DIFFERENTIATING EXPONENTIAL FUNCTIONS:

d
—(pX) = pX
dx(e) e

d ’
Eef(") = £ (x)ef® hint: chain rule!

Product, quotient and chain rule also apply to Other helpful rules:

exponential functions. i(ax) = (Ina)a* (hint: y = a* = ¢*'7)
dx ’

d
Product Rule: %[f(x)g(x)] = f,(x)g(x) +f(X)g,(x) E(“f(x)) =(In a)f/(x)af(x)

Quotient Rule: - [@] _gef (a[z(;ﬁfzmg ®

g(x)
Chain Rule: %[f(g(x))] = £ (g(x))g (x)

8.1 WORKED EXAMPLE 8.2 WORKED EXAMPLE

Prove that the derivative of y = ¢* is e*. Derive the following formula (hint: use chain rule!)

d ,
s of® = f (x)ef @



